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Outline

« Conjunctions (1, a, HO)
* Numbers
* Present tense pseudo-quiz

* The single-stem verb system

— Learn to conjugate verbs by memorizing only one
form

— (Okay, and a few rules)



The conjunctions u, a, and HO

Three conjunctions that correspond to the two
English conjunctions ‘and’ and ‘but’

HO is stressed, the other two are unstressed
Always write a comma before HO and a
Do not write a comma before 1 (most of the time)

Never use a “serial comma”

— lvan, Dmitrij, and Fedor live in Moscow.

— lvan, Dmitrij and Fedor live in Moscow.

— WeaH, OmuTtpun n ®énop »xmueyT B Mockse.



A

* N combines two things that are alike, with no
expression of contrast or contradiction

— Mbl YnTaem u NULEM XOPOLLIO.

« The subject is the same (Mbl) and we do both things
well.

* The only difference is that there are two activities.

— MbI NYLLEM XOPOLLIO U Bbl MULLIETE XOPOLLO.

* The activity is the same (writing) and everyone does it
well.

* The only difference is that there are two subjects.
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HO

* HO implies contradiction

* One clause sets up an expectation that is then
frustrated in the other

— MbI IULLEM XOPOLLIO, HO MEANEHHO.

* Most people who write well don’t have to qualify such a
statement by adding that they have to do it slowly.

* Good writing suggests writing at a normal speed, so having
to do it slowly frustrates the normal expectation.

e Usually one difference (“we” and “write” are
constant, but the adverb [“well”/“slowly”]
changes)
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e aimplies contrast, but not contradiction
— MbI nnLem XopoLUo, a Bbl NULLETE MI0XO.

— On the one hand, we write well, but, on the other
hand, you write poorly

— We write well, whereas you write poorly.

— There is no expectation that if we write well, you
should also write well (that is, there is no
contradiction)

— Reversing the order of the clauses doesn’t change the
meaning

— Usually two differences (“write” is constant, but
“we”/“you” and “well” /“poorly” varies)



Conjunction practice

- Mama roBopmT No-pyccku ___ namna roBopuT no-
pyccKMm.
— Mawma FOBOpl/IT no- pyCCKI/I M nana FOBOpI/IT no- PYCCKM.

* Mama rOBOPUT NO-PYCCKA ____ OHAa HEe YUTaET Nno-
PYCCKM.
— Mama rosopm no- pyccm HO 0Ha He uuTaeT no- PYCCKM.

- Mama FOBOpI/IT No-pycckn ____ niana roBopuT no-
aHrIMNCKMN.

— Mama roBopuT No-pyccki a nana roBopuT no-
aHTTMINNCKN,

— Mama roBopuT No-pycckin HO narna roBopuT Mo-
aHITMNNCKN,



New numbers

You already know 0-10, the teens, 20, 30, 40, and
50

This unit adds 60, 70, 80, 90, 100, which lets you
count up to 199

Form compound numbers in Russian as you do in
English (but with no hyphens)
— String the pieces together

— One hundred twenty-eight =
CTO ABaAuaTb BOCEMb

Practice in recitation



Learning numbers

Memorize 0—-10

Teens sound like the units value plus —HaauaTb
— oAMHHagLaTh, ABeHaaLuaTh, TPUHaaLuaTh, .

20 and 30 sound like the units value plus
—ALuaThb

— gBaguaTh, TpUALAaThH

50, 60, 70, 80 sound like the units value plus
—[0ECAT (note no soft sign at the end)

— NATbOECAT, LWEeCTbAECAT, CEMbAECAT, BOCEMbAECAT
Memorize 40, 90, and 100, which are peculiar
— COpOK

— [EeBSIHOCTO

— CTO



Numbers and the soft sign

* Numbers never have more than one soft sign

* Numbers through 30 with a soft sign have the
soft sign at the end
— NSATb, LWECTb, CEMb, BOCEMb, ,EI,éBFITb
— O,EI,I/IHHa,EI,LI,aTb ,EI,BeHa,EI,LI,aTb TpUHaguaTh, .
— OecsTb, ABaauaTth, TpuauaTth

* Numbers from 50 up with a soft sign have the
soft sign in the middle

— NATbAECAT, LUeCTbAECHT, CEMbECST,
BOCEMbAECST



How to use numbers

* Surprisingly, numbers are not normally followed by the
nominative plural (!)

* Numbers are normally followed by case forms we
haven’t learned yet (coming in Unit 6)

— Notice SAM, p. 57, ex. b, with different forms of the word
for “ruble” after different numbers

* This means that we don’t yet know how to count
things

— We do know how to recognize telephone numbers,
addresses, prices, etc.

— We don’t know how to say “I have six cats and four dogs”



Present tense pseudo-quiz

1. Inthe eT conjugatlon when do we write -y
(e.g., A NULLY, OHl/I I'II/ILLIyT) and when do we
write —t0 (e.g., 1 3Hat0, OHM 3HAIOT)?

a. Itdepends on the place of stress.

t depends on whether there is a /j/ sound
pefore the ending.

c. Itdepends on whether the other forms have € or
e.
d. It must be memorized for each verb.



Present tense pseudo-quiz

2. In—eT conjugation verbs, when do we write
(e.g., OH XMBET) and when do we write e
(e.g., OH NULLIET)?

a. Itdepends on the place of stress.

t depends on whether there is a /j/ sound
pefore the ending.

c. It depends on whether the oHM form uses —yT or
—AT.

d. It must be memorized for each verb.



Present tense pseudo-quiz

3. What is the difference in stress patterns
between conjugation type (—€T vs —UT) and
stress?

—WUT conjugation verbs always have mobile stress.

—eT conjugation verbs always have end stress.

—WUT conjugation verbs always have end stress.

O o T o

There is no correlation between conjugation
type and stress.



Present tense pseudo-quiz

4. In—WT conjugation verbs, when is the ending
for the 4 form =y and when is it —10?
a. It depends on the place of stress.

t depends on whether there is a /j/ sound
pefore the ending.

c. Itisalways —to.
d. It must be memorized for each verb.

* (As far as we know.)



Present tense pseudo-quiz

5. In—=WUT conjugation verbs, what is the ending
of the OHM form?

yT

aT

unstressed 1OT

O o T o

stressed 10T



How to learn verb forms

What forms should you memorize, and which ones can you derive
by rule?

The infinitive has no predicative power

— YuTaTb, YNTAK

— nMcaThb, NULWY (not *Aweato)

— KUTb, XUBY

— TOBOPVTb, FOBOPIO (not *FoBepMrBY)

The present tense has no predictive power

— KMBY, XUTb

— MWLWY, NMcaThb (not *AnFs)

Your textbook tells you to memorize four forms for each verb:
infinitive plus three present-tense (4, Tbl, OHW)

You can cut that down to just one form per verb



The single-stem verb system

For each verb, memorize a single stem
Derive all forms from that single stem by rules

Pro: Much less memorization

— Are you comfortable with learning systems and
applying rules?

Con: The stem and the rules are abstract

— Would you prefer to avoid abstraction, even if doing so
requires more memorization?

Disclosure: The presentation here is slightly
simplified because you know only seven verbs



Stems and endings

* As with nouns and adjectives, think in terms of
sounds, not letters

 Like nouns and adjectives, verb forms are
made by combining stems and endings

e Stems may end in consonant sounds or vowel
sounds

* Endings may begin with consonant sounds or
vowel sounds



Verb stems

3HaTb Zn-aj+ aj
n3yyatb izuc-aj+ aj
NOHUMATb pon’im-aj+ aj
yuTaTb Sit-aj+ aj
KUTb Ziv+ non-suffixed
nucaTtb p’is-a+ a

rOBOPUTH govor’-i+ i



The parts of a Russian verb form

Root
— Always ends in a consonant
— Lexical part of the verb, e.g., /Cit/ ‘read’

Suffix

— Provides information about how the verb is conjugated,
e.g., [-aj+/

Stem

— Combination of root plus suffix, e.g., /Cit-aj+/

— Some verbs are unsuffixed, e.g., /Ziv+/

Grammatical ending

— Tense, number, person, and gender
e.g., /u/ in ynTaro = first person singular present tense



Working with stems and endings

Think of words and their parts in terms of sounds, not
letters

— yuTato has five letters but six sounds /&itaju/

— The stem is the sounds /Citaj/

— The ending is the sound /u/

The stem is not a real word

— You have to add an ending to it to make it a real word

The stem is useful because you can derive real words
from it by following the rules

If you memorize one stem for each verb, plus the
general rules, you don’t need to memorize any other
forms



Suffixes and conjugations

* There are two conjugations in Russian
— —eT and —uT

 Suffixes indicate conjugation unambiguously
* There are about a dozen suffixes

* You know four suffix types

— [—aj+/, /—a+/, /-i+/, and non-suffixed verbs
e Of the types you know

— /—i+/ is UT-conjugation

— all others are €T-conjugation



—eT conjugation

9 /-u/ KVBY, MULLY, YATAIO

Tbl /-'08/ KUBELLb, MULLELLb, YNTaellb
OH, OHa, OHO /-'ot/ KUBET, NMULLET, YNTAET

Mbl /~'om/ KUBEM, MULLEM, YNTaEM

Bbl /-'ot'e/ XUBETE, NULIETE, YnTaeTe
OHU /-ut/ XUBYT, MULLYT, YATAIOT

» As always in Russian, unstressed € loses its dots and is pronounced like e.
* XXUBET /Ziv'6t/, nuweT /piSet/, and YntaeTt /Citajet/ have the same ending: /-'ot/
* XuBY /Ziva/, nuwy /piSu/, and yntato /Citdju/ have the same ending: /—u/



—UT conjugation

9 /-'u/ rOBOPIO
Tbl /-'i8/ roBOPYLLb
OH, OHa, OHO /-'it/ roBOpUT
Mbl /='im/ rOBOPUM
Bbl /-'it'e/ roBopuTe

OHU /-'at/ roBopsaT



9
Thl
OH, OHa, OHO
Mbl
Bbl

OHUN

The two conjugations
Subject | Grammaticalending | Example

/-u/
/—'0S/
/—"ot/
/—'om/
/-'ot'e/
/—ut/

KUBY, MULLLY, YATAIKO
KUBELLb, MULLELLb, YNTaellb
KUBET, NULLIET, YNTAET
KUBEM, NMULLEM, YNTAEM
XUBETE, NULLETE, YNTaeTe

KVUBYT, MNLLYT, YNTAIOT

q
Thl
OH, OHa, OHO
Mbl
Bbl

OHUN

/='u/
/-'iS/
/-'it/
/='im/
/-'it'e/
/—'at/

roBOpPIO
rOBOPVLLb
roBOpUT
rOBOPUM
roBopuTe

roBopAT



Juncture

* The meeting of stem and ending is called
juncture

 When two unlike things meet (C+V or V+C)
— Stable juncture
— Nothing happens

 When two like things meet (C+C or V+V)
— Unstable juncture
— Something (predictable) happens



When two unlike things meet
(C+V or V+C)

e Stable juncture

* Just slap the stem and ending together
e /&it—aj+u/ = ynTaro (C+V)

e /pis—a+l/ = nucan (V+C)



When two like things meet
(C+C or V+V)

e Unstable juncture

* Something (predictable!) happens

— C+C: Truncation of the first item
e [ZivHt'[ = KUTb
e /v/ is truncated
— V+V: Truncation of the first item and mutation of
the preceding consonant
e /p’is—a+u/ = LY
* /a/ is truncated and /s/ mutates to /S/



Truncation Is easy

* No truncation at stable junctures (C+V, V+C)
— Nothing interesting happens at stable junctures

e At unstable junctures (C+C or V+V)

— C+C truncation: delete the first consonant
o [Ziv+t'/ = XNUTb /Zit’/
e /&it—4j+|/ = unTan /&ital/

— V+V truncation: delete the first vowel
* /govor’—i+'u/ = roBopto /govor’u/
 /govor'—i+iS/ = FOBOpI/’ILLIb /govoris/



Mutation is easy

At V+V junctures, the consonant before the first vowel
mutates (changes to another consonant)

V+V mutation

If a consonant mutates, it always mutates to the same thing
— /r/ doesn’t mutate

— /s/ mutates only to /S/
/govor’—i+u/

— V+V truncation: /govor’u/

— V+V mutation (/r/ doesn’t mutate): /govor’u/ = I'OBOpK’)
/p’is—a+u/

— V+V truncation: /p’isu/

— V+V mutation (/s/ mutates to /S/): /p’iSu/ = r||/||_u)'/



How do you know what mutates to what?

* Your instructors tell you

e So far

— /r/ doesn’t mutate

* This means that when you learn the verb gapuTs ‘to
give,” with the stem /dar’=i/, you will know that the 5
form has to be g gapto (truncation but no mutation)

— /s/ always mutates to /S/

« This means that when you learn the verb yecaTb
‘scratch; comb,” with the stem /Ces—a+/ you will know
that the s form has to be 9 Yewwuy (truncation plus
mutation)



Past tense

* The past-tense endings are /|, la, lo, I'i/
— All past-tense endings begin with a consonant sound
* If the stem ends in a vowel sound (/p’is—a+/, /govor’—i+/)
— Adding a past ending produces a stable juncture (V+C)
— Just add the stem and ending
» /p’is—a+l/ = nucan ,
 /govor’—i+la/ = roBopuna
 |f the stem ends in a consonant sound (/ziv+/, /Cit—3j+/)
— Adding a past ending produces an unstable juncture (C+C)

— Truncation of first consonant
o [zivtl/=xun
/Cit=aj+la/ = yntana



Past tense

Masculine singular  /—I/ S, Tbl, OH XWI, YuTan, Nucan, roBOPUI
L 9, Tbl, OHA XWUNa, YnTana, nMcana,
Feminine singular  /-la/ .
roBopuna
Neuter singular /~lo/ (OHO Wr0, YMTano, NMcano, roBOPUIIO)
, Mbl, Bbl, OHM XXWUIW, YnTanu, nucanm,
Plural (all genders) /-l'i/ .

roBOpUnu



Infinitive

e The infinitive ending for most verbs (and all verbs we know
so far) is /t’/

— The infinitive ending begins with a consonant sound

* |f the stem ends in a vowel sound (/p’is—a+/, /govor’—i+/)

— Adding an infinitive ending produces a stable juncture (V+C)
— Just add the stem and ending

e /p’is—a+t’/ = nncaTb

e /govor'—i+t’/ = FOBOpI/’ITb

* If the stem ends in a consonant sound (/ziv+/, /Cit—aj+/)

— Adding an infinitive produces an unstable juncture (C+C)
— Truncation of first consonant

o [Ziv+t’'[ = XUTb

. /&it-4j+t’/ = ynTaTb



How do you know the stem of a verb?

* You can’t predict the stem from any single real
form

* Your textbook doesn’t tell you what the stem
1S

— Your textbook authors don’t tell you about single
stems; they tell you to memorize four separate
forms

* Your instructors tell you what the stem is



/rabot—aj+/ ‘work’

cenyac s

— A paboTalo /rabét—aj+u/
cenyac Tol

— Tbl paboTaelub /rabdt—aj+'08/
cenyac oH

— OH paboTaer /rabét—aj+ot/
cenyac Mbl

— Mbl paboTaem /rabét—aj+'om/
cenyac Bbl

— Bbl paboTaete /rabdt—aj+ot’e/
ceiyac OHv

— OHu paboTaloT /rabdt—aj+ut/
paHbLUe OH

— OH pa6éTan /rabot—aj+l/
paHbLLIe OHA



/Ces—a+/ ‘scratch, comb’

cenvac o

— 9 H’eLIJ)’/ /Ces—a+u/
ceifyac Tbl

— Thbl ‘—IeLIJeLLIb /Ces—a+'0S/
cemqac OH

— OH 54eu1eT /Ces—a+'ot/
ceifyac mbl

— Mbl L|eu1e|v| /Ces—a+'om/

Cemqac Bbl
— Bbl YyelleTe /Ces—a+'ot’e/

ceyac oHU
— OHM YellyT/Ces—a+ut/
paHbLLE OH



/dar—i+/ ‘give’

cenvac o

— 9 ,u,’aprb /dar—i+u/
cenyac Thbl

— Thbl ’Ll,a’QI/ILLIb /dar—i+'i§/
cenyac oH

— OH gépMT /dar—i+it/
cenyac Mbl

— Mb’l’ﬂ,épI{IM /dar—i+im/
cenyac Bbl

— Bbl gapute /dar—i+'it’e/

cefyac oOHM
— OHW gapaT /dar—i+'at/
paHbLLE OH



